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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. TRiemel TeEvey U U O W M F JaEd: o |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

2. WEUF & TR F ST TURR H FHH THR FHl T / IR / SREH
TH TR &Y AT % T 1 TE A

If there is any error / difference / contradiction in Hindi &

English versions of the question paper, the question of Hindi

version should be treated valid.

3. | WA HH AT B

All the questions are compulsory.

4. T T T I A T ITR-YRAH | & AE |

Write the answer to each question in the given answer-book only.
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5. T8 U 6 UH 9§ ¥ M 3 Al A6 €, 37 @ qW H & Th
T A G |
For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in
continuity.
6. U HHIH 23 I 24 H AIH THeT § |
Question Nos. 23 and 24 have internal choice.
7. WA G 295 dH ﬂﬁWW% STk Yodsh IR oI Ush
¥ W A IR TR H A €
Question Nos. 2 to 5§ are very short answer type questions. The
answers of these questions should be given in one word to thirty
words each.
8. UYT I 1 % AR WM (i, ii, iii T iv ) & | Uk 9N & I % °OR
FHET (A, &, W U3 &) § | W& THeT H ITER IR-YRas |
AHITHR RIKGEJRCEIET ?’T@ :
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each
part has four alternatives A, B, C and D. Write the letter of the
correct alternative in the answer-book at a place by making a
table as mentioned below :
I HHIH WET I BT HHTER
Question No. Correct letter of
the Answer
1. (i)
1. (ii)
1. (iii)
1. (iv)
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1. () UF O F TR H UESH 'A' T 'B' IH1 IR & of 4 T=larer
a' d 'b' AT SURST & df T € THE e
(3 T (@ i
(®) s ® 3

In a human blood, when both antigens 'A' and 'B' are absent,

but antibodies 'a’ and 'b' both are present, his blood group is
A A (B) B

(C) AB (D) O.

N |~

(i) HAE, THT o WU AT & IR0 §, HA

(37) SMEFeR, FEE T FAHUSIR
(@) IMcFHoR, TAHTSIER F FTSE
(@) FETge, TAMUSIeR o 3Mfeshor

(3) AR, TAMUETeR q MfeFHor |

Malleus, Incus and Stapes are modifications of bones,

respectively
(A) articular, quadrate and hyomandibular
(B) articular, hyomandibular and quadrate

(C) quadrate, hyomandibular and articular

(D) quadrate, hyomandibular and articular. %
(i) AT UH @I AT FHI & Y T H FIE I I Al
(31) I 9N YA & S §
(&) AT AT B YAEIHA & ST &
(F) et 3T AN T [T &Il €
(3) At I¥F INT T [IEGH BT & |
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If a planaria is divided into two halves then
(A)  Dboth parts die
(B) regenerate both the parts

(C) regenerate only anterior part
(D) regenerate only posterior part.

(iv) ~ SolEeTheed T o STRTE 9=giq H TUREAT shi e gidl &

(31) 44 + XXY T 44 + XO

N |~

(I) 44 + XO T 44 + XXY
() 44 + XXY T 44 + XYY
() 44 + XYY 9 44 + XXY.

The arrangement of chromosomes in Klinefelter's syndrome and

Criminal syndrome is

(A) 44 + XXY and 44 + XO
(B) 44 + XO and 44 + XXY
(C) 44 + XXY and 44 + XYY

(D) 44 + XYY and 44 + XXY.

2. Y@ % &I W UMl S dTell Tkl 31 T A/ o1 §U |

N |~

Write the name of single bone found at the floor of the buccal cavity.

3. TR S B GIATET HI 9T |

Define nerve impulse.

4.,  TUTE ool H HE AGU |

Write the function of fertilization membrane.

N |~

N |~

5. 998 w9 FEd § ?

What is Emasculation ?

N |~
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6. RUMITT I G H TH 3R AW |

Write one difference between Pivot joint and Gliding joint. 1
7. TE TR FME 2
What is thoracic basket ? 1

8. THRASH BE 59 & & HF A EU |

Write two functions of cerebrospinal fluid. L - 1

2 2
9. AT HHT % JUUT § Wl I IR H YUHk HT AT SIF A FT & ?
HHLARY |
What will happen if the Sertoli cells of testis of human are removed ?
Explain. 1
10. ST ol IR ThHIGTAT Tl THSRT |

Explain Sickle cell anemia. 1
11. AT % FIE & oY AET |
1
2

12. ¥Eqd & T8 W Y& S FTe T HiS H O3 TR AH T FoT AGU |

Write the scientific name and family of silkworm living on mulberry

leaves. 1 + 1. 1

2 2
13. “Sg% 9901 94 B, TAE T o 937 1 39T 3T &eh 08 qH1 Srar & |
HHSATRU |

Write any two advantages of cloning. +==1

N |~

"Biological control method is considered as more safe than chemical

control methods." Explain. 1
14. IT 9SF & ST AFG & TERE g §RT Na,CO, H OicT dgar 3 af

A T THERT 1 TS TR 2 HHEET |

What will be the effect on digestion if the solution of Na,COj is injected

in the stomach after taking food ? Explain. 2
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15. T M ! el WhaeY U i ASHT T T4 ST af SE-F1 AT A1 ad
Bl 7 HROT FET THART |

If the circular sphincter muscle of iris is inactivated then which
process will be effected ? Explain with reasons. 2

16. 3T & o 7Tk S99 H 91 X A @U |

Write four differences between asexual and sexual reproduction. 4 x % =2
17. T o Y] & oNEad SIS T A1 ha = IR |
Draw a labelled diagram of L. S. of human sperm. 2

18. YU &l YIHTET hi ST | T<TeAT UYOT Sl ISELUT T & GHSU |

Define implantation, Explain interstitial implantation by giving
1 1

example. 2 +1+ r, =2
19. TR TR & form TEROT Fi I[EIT FRT THART o IHHN A1 bl 3TN &

EERCEEU

Explain Protenor type of sex determination by giving example and

draw labelled ray diagram of it. 1+1=2
20. W T T E ? TR HR TOTEA! hl AT |

What is C.T. Scan ? Explain its working mechanism. 1+1=2
21. IHA INY-A AT Hl T Ha T & MR W U i 5 :

(37) IS H AW

(&) T H I A

(F) TS & e & S AR
(3) /M F AT TGE T RE FH TFR |

On the basis of the following points describe Hepatitis-B disease :

(@) Name of pathogen

(b) Two symptoms of disease

(c) Two modes of spread of pathogen

(d) Type of antibodies used in diagnosis. é + % + % + % =2
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22, (31) YOI WIS I 31U U IA H R AT |
(@) AT AT FAT H YU TH IAT I THSLT T THHN A hd TR &

EERCEIE{U
(F) 37O TSI & I 3T ST AGT |
(@) Write the difference between complete dominance and

incomplete dominance.
(b) Explain incomplete dominance in Mirabilis Jalapa and draw

labelled ray diagram of it.

(¢) Write two other examples of incomplete dominance. 1+2+1=4
23. 9 F UHIST I TIHAT FI AT HA T TART TH T &R FRT CO,, h T IEEA
FATS & I T |
37T
TP I IMHT hl I GXIAT HI A hd oF SHAEY T THR GO Hl
HHATRT |
Draw a labelled diagram of the structure of Alveoli and explain the
mechanism of transport of CO, through blood. 1+3=4
OR
Draw a labelled diagram of internal structure of muscle cell and
explain its structure. 1+3=4
24. THA % FFH FH HEEd FIC H AT =T IART | TR 9T 9 3T I
G 1 G |
37l
TSI T o1 T T A1 ol = AT | SR &1 TS FRT A1
THAT % HHET B TR |
Draw a labelled diagram of L.S of human kidney. Explain its external
and internal structures. 1+1+2=4
OR
Draw a labelled diagram of structure of Pancreas. Explain the
functions of hormones secreted by Islets of Langerhans. 1+3=4
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